

ABC Bid Data

STATEWIDE TIER 2 (SW) RESURFACING

42289

X-A004(804)

PROJECT: STATEWIDE TIER 2 (SW) RESURFACING

STATE PROJECT NUMBER: 42289

FED. PROJECT NUMBER: X-A004(804)

DATE BIDS OPEN: October 24, 2019, 2:00

SCOPE OF WORK:

Resurfacing of various Tier 2 roadways in the Southwest region for Maintenance &

Preservation.

COMPLETION DATE:

September 11, 2020

LOCATION:

Awarded To: EUROVIA ATLANTIC COAST

LLC

Amount:

Award Date:

2911 N GRAHAM STREET

CHARLOTTE, NC 28206

\$2,831,784.88 Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
EUROVIA ATLANTIC COAST LLC	\$2,831,784.88	Α
2911 N GRAHAM STREET, CHARLOTTE NC 28206		
MITCHELL SAND & GRAVEL LLC	\$2,836,576.21	В
191 REYNOLDS ROAD, SHELBURNE MA 01370		

				F	°S&E	2911 N GR	ANTIC COAST LLC AHAM STREET TE, NC 28206	191 REYN	ID & GRAVEL LLC OLDS ROAD NE, MA 01370
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	8,450.00	\$3.09	\$26,110.50	\$3.00	\$25,350.00	\$3.50	\$29,575.00
203.5561	EAGRT PLATFORM PREFERRED	U	55.00	\$1,293.00	\$71,115.00	\$1,350.00	\$74,250.00	\$1,100.00	\$60,500.00
203.5562	EAGRT PLATFORM ALTERNATE	U	11.00	\$1,294.00	\$14,234.00	\$1,350.00	\$14,850.00	\$1,100.00	\$12,100.00
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	2.00	\$1,256.00	\$2,512.00	\$1,350.00	\$2,700.00	\$1,100.00	\$2,200.00
203.5596	GUARDRAIL E-2 PLATFORM	LF	352.00	\$26.85	\$9,451.20	\$33.00	\$11,616.00	\$50.00	\$17,600.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$73.80	\$738.00	\$65.00	\$650.00	\$125.00	\$1,250.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	890.00	\$41.50	\$36,935.00	\$64.00	\$56,960.00	\$30.00	\$26,700.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,820.00	\$74.50	\$135,590.00	\$79.00	\$143,780.00	\$82.00	\$149,240.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	910.00	\$80.00	\$72,800.00	\$79.00	\$71,890.00	\$92.00	\$83,720.00
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	1,310.00	\$94.00	\$123,140.00	\$97.00	\$127,070.00	\$92.00	\$120,520.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	160.00	\$125.00	\$20,000.00	\$100.00	\$16,000.00	\$120.00	\$19,200.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,310.00	\$3.74	\$4,899.40	\$3.75	\$4,912.50	\$3.00	\$3,930.00
403.6	PAVEMENT JOINT ADHESIVE	LF	32,570.00	\$0.25	\$8,142.50	\$0.22	\$7,165.40	\$0.25	\$8,142.50
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	390.00	\$4.05	\$1,579.50	\$0.50	\$195.00	\$0.50	\$195.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	16,980.00	\$3.85	\$65,373.00	\$4.15	\$70,467.00	\$3.50	\$59,430.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	13,340.00	\$75.50	\$1,007,170.00	\$80.00	\$1,067,200.00	\$82.00	\$1,093,880.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	37,650.00	\$2.44	\$91,866.00	\$3.65	\$137,422.50	\$3.50	\$131,775.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	370.00	\$15.00	\$5,550.00	\$5.50	\$2,035.00	\$15.00	\$5,550.00
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	2.00	\$450.00	\$900.00	\$450.00	\$900.00	\$250.00	\$500.00
604.0007	POLYETHYLENE LINER	EA	17.00	\$162.60	\$2,764.20	\$230.00	\$3,910.00	\$125.00	\$2,125.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	16.00	\$466.00	\$7,456.00	\$625.00	\$10,000.00	\$700.00	\$11,200.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	1.00	\$529.00	\$529.00	\$625.00	\$625.00	\$700.00	\$700.00
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	28.00	\$100.98	\$2,827.44	\$105.00	\$2,940.00	\$100.00	\$2,800.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	28.00	\$26.50	\$742.00	\$27.50	\$770.00	\$30.00	\$840.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	60.00	\$2,839.00	\$170,340.00	\$3,350.00	\$201,000.00	\$3,600.00	\$216,000.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	6.00	\$2,498.00	\$14,988.00	\$3,000.00	\$18,000.00	\$3,600.00	\$21,600.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,556.00	\$5,112.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$763.00	\$1,526.00	\$1,100.00	\$2,200.00	\$1,200.00	\$2,400.00

					PS&E	2911 N GR	ANTIC COAST LLC AHAM STREET ITE, NC 28206	191 REY	ND & GRAVEL LLC NOLDS ROAD RNE, MA 01370
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	352.00	\$33.50	\$11,792.00	\$40.00	\$14,080.00	\$40.00	\$14,080.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	4,100.00	\$20.00	\$82,000.00	\$24.50	\$100,450.00	\$25.00	\$102,500.00
606.91454	RESETTING TERMINAL UNIT (TYPE EAGRT, TL 3)	U	1.00	\$641.56	\$641.56	\$700.00	\$700.00	\$1,500.00	\$1,500.00
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	2,062.50	\$8.75	\$18,046.88	\$9.50	\$19,593.75	\$3.00	\$6,187.50
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	39.99	\$100.00	\$3,999.00	\$365.00	\$14,596.35	\$85.00	\$3,399.15
615.0201	TRAFFIC SIGN TYPE B	SF	107.50	\$61.00	\$6,557.50	\$72.00	\$7,740.00	\$100.00	\$10,750.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	138.25	\$160.00	\$22,120.00	\$255.00	\$35,253.75	\$200.00	\$27,650.00
615.0301	TRAFFIC SIGN TYPE C	SF	88.75	\$48.00	\$4,260.00	\$60.00	\$5,325.00	\$60.00	\$5,325.00
615.0601	TRAFFIC SIGN TYPE CC	SF	52.53	\$33.00	\$1,733.49	\$12.50	\$656.63	\$20.00	\$1,050.60
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,600.00	\$9,600.00	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,331.00	\$1.00	\$2,331.00	\$1.00	\$2,331.00	\$1.00	\$2,331.00
618.7	FLAGGERS	HR	960.00	\$28.35	\$27,216.00	\$62.00	\$59,520.00	\$35.00	\$33,600.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$70,000.00	\$70,000.00	\$105,326.46	\$105,326.46
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$2,600.00	\$5,200.00	\$3,400.00	\$6,800.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	4.00	\$290.00	\$1,160.00	\$180.00	\$720.00	\$285.00	\$1,140.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$2,450.00	\$9,800.00	\$3,250.00	\$13,000.00	\$3,000.00	\$12,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	125.00	\$5.31	\$663.75	\$6.50	\$812.50	\$5.00	\$625.00
621.31	SINGLE DELINEATOR WITH POST	EA	350.00	\$43.00	\$15,050.00	\$50.00	\$17,500.00	\$50.00	\$17,500.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	545,000.00	\$0.18	\$98,100.00	\$0.22	\$119,900.00	\$0.24	\$130,800.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	235.00	\$3.33	\$782.55	\$3.00	\$705.00	\$2.00	\$470.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	120.00	\$8.70	\$1,044.00	\$6.50	\$780.00	\$5.00	\$600.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,950.00	\$3.00	\$5,850.00	\$1.95	\$3,802.50	\$3.00	\$5,850.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	120.00	\$7.75	\$930.00	\$6.50	\$780.00	\$9.00	\$1,080.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	500.00	\$13.25	\$6,625.00	\$10.50	\$5,250.00	\$10.00	\$5,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	290.00	\$3.17	\$919.30	\$2.15	\$623.50	\$1.50	\$435.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	130.00	\$3.24	\$421.20	\$4.25	\$552.50	\$5.00	\$650.00
645.42	TEMPORARY SLOPE MATTING TYPE B (WILDLIFE FRIENDLY)	SY	1,600.00	\$4.00	\$6,400.00	\$3.25	\$5,200.00	\$1.00	\$1,600.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	1,600.00	\$3.15	\$5,040.00	\$2.25	\$3,600.00	\$4.00	\$6,400.00
692.	MOBILIZATION	U	1.00	\$133,552.50	\$133,552.50	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00

				,	PS&E		PS&E EUROVIA ATLANTIC COAST LLC MITCHELL SAND & GRA 2911 N GRAHAM STREET 191 REYNOLDS RI CHARLOTTE, NC 28206 SHELBURNE, MA 0		2911 N GRAHAM STREET		NOLDS ROAD
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,154.00	\$1.00	\$10,154.00	\$1.00	\$10,154.00	\$1.00	\$10,154.00		
	Totals:				\$2,641,280.47		\$2,831,784.88		\$2,836,576.21		
			Alt. Totals:								
			Totals:		\$2.641.280.47		\$2.831.784.88		\$2.836.576.21		



PS&E Comparison

STATEWIDE TIER 2 (SW) RESURFACING 42289 X-A004(804)

Items

202.7	REMOVAL OF GUARDRAIL	LF	8,450.00	\$3.00	\$25,350.00	\$3.09	\$26,110.50	(\$760.50)
203.5561	EAGRT PLATFORM PREFERRED	U	55.00	\$1,350.00	\$74,250.00	\$1,293.00	\$71,115.00	\$3,135.00
203.5562	EAGRT PLATFORM ALTERNATE	U	11.00	\$1,350.00	\$14,850.00	\$1,294.00	\$14,234.00	\$616.00
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	2.00	\$1,350.00	\$2,700.00	\$1,256.00	\$2,512.00	\$188.00
203.5596	GUARDRAIL E-2 PLATFORM	LF	352.00	\$33.00	\$11,616.00	\$26.85	\$9,451.20	\$2,164.80
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$65.00	\$650.00	\$73.80	\$738.00	(\$88.00)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	890.00	\$64.00	\$56,960.00	\$41.50	\$36,935.00	\$20,025.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,820.00	\$79.00	\$143,780.00	\$74.50	\$135,590.00	\$8,190.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	910.00	\$79.00	\$71,890.00	\$80.00	\$72,800.00	(\$910.00)
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	1,310.00	\$97.00	\$127,070.00	\$94.00	\$123,140.00	\$3,930.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	160.00	\$100.00	\$16,000.00	\$125.00	\$20,000.00	(\$4,000.00)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,310.00	\$3.75	\$4,912.50	\$3.74	\$4,899.40	\$13.10
403.6	PAVEMENT JOINT ADHESIVE	LF	32,570.00	\$0.22	\$7,165.40	\$0.25	\$8,142.50	(\$977.10)
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	390.00	\$0.50	\$195.00	\$4.05	\$1,579.50	(\$1,384.50)

Thursday, October 31, 2019 Page 5 of 8

410.22	ASPHALT EMULSION FOR TACK COAT	GAL	16,980.00	\$4.15	\$70,467.00	\$3.85	\$65,373.00	\$5,094.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	13,340.00	\$80.00	\$1,067,200.00	\$75.50	\$1,007,170.00	\$60,030.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	37,650.00	\$3.65	\$137,422.50	\$2.44	\$91,866.00	\$45,556.50
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	370.00	\$5.50	\$2,035.00	\$15.00	\$5,550.00	(\$3,515.00)
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	2.00	\$450.00	\$900.00	\$450.00	\$900.00	\$0.00
604.0007	POLYETHYLENE LINER	EA	17.00	\$230.00	\$3,910.00	\$162.60	\$2,764.20	\$1,145.80
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	16.00	\$625.00	\$10,000.00	\$466.00	\$7,456.00	\$2,544.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	1.00	\$625.00	\$625.00	\$529.00	\$529.00	\$96.00
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	28.00	\$105.00	\$2,940.00	\$100.98	\$2,827.44	\$112.56
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	28.00	\$27.50	\$770.00	\$26.50	\$742.00	\$28.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	60.00	\$3,350.00	\$201,000.00	\$2,839.00	\$170,340.00	\$30,660.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	6.00	\$3,000.00	\$18,000.00	\$2,498.00	\$14,988.00	\$3,012.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$3,000.00	\$6,000.00	\$2,556.00	\$5,112.00	\$888.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)		2.00	\$1,100.00	\$2,200.00	\$763.00	\$1,526.00	\$674.00
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	352.00	\$40.00	\$14,080.00	\$33.50	\$11,792.00	\$2,288.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	4,100.00	\$24.50	\$100,450.00	\$20.00	\$82,000.00	\$18,450.00
606.91454	RESETTING TERMINAL UNIT (TYPE EAGRT, TL 3)	U	1.00	\$700.00	\$700.00	\$641.56	\$641.56	\$58.44
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	2,062.50	\$9.50	\$19,593.75	\$8.75	\$18,046.88	\$1,546.87
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	39.99	\$365.00	\$14,596.35	\$100.00	\$3,999.00	\$10,597.35
615.0201	TRAFFIC SIGN TYPE B	SF	107.50	\$72.00	\$7,740.00	\$61.00	\$6,557.50	\$1,182.50
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	138.25	\$255.00	\$35,253.75	\$160.00	\$22,120.00	\$13,133.75

Thursday, October 31, 2019

615.0301	TRAFFIC SIGN TYPE C	SF	88.75	\$60.00	\$5,325.00	\$48.00	\$4,260.00	\$1,065.00
615.0601	TRAFFIC SIGN TYPE CC	SF	52.53	\$12.50	\$656.63	\$33.00	\$1,733.49	(\$1,076.86)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,500.00	\$9,000.00	\$1,600.00	\$9,600.00	(\$600.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	2,331.00	\$1.00	\$2,331.00	\$1.00	\$2,331.00	\$0.00
618.7	FLAGGERS	HR	960.00	\$62.00	\$59,520.00	\$28.35	\$27,216.00	\$32,304.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$70,000.00	\$70,000.00	\$150,000.00	\$150,000.00	(\$80,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,600.00	\$5,200.00	\$1,000.00	\$2,000.00	\$3,200.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	4.00	\$180.00	\$720.00	\$290.00	\$1,160.00	(\$440.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$3,250.00	\$13,000.00	\$2,450.00	\$9,800.00	\$3,200.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	125.00	\$6.50	\$812.50	\$5.31	\$663.75	\$148.75
621.31	SINGLE DELINEATOR WITH POST	EA	350.00	\$50.00	\$17,500.00	\$43.00	\$15,050.00	\$2,450.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	545,000.00	\$0.22	\$119,900.00	\$0.18	\$98,100.00	\$21,800.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I	LF	235.00	\$3.00	\$705.00	\$3.33	\$782.55	(\$77.55)
	(REMOVABLE) 4" LINE							
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE	LF	120.00	\$6.50	\$780.00	\$8.70	\$1,044.00	(\$264.00)
632.3104	(REMOVABLE) 18" LINE RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,950.00	\$1.95	\$3,802.50	\$3.00	\$5,850.00	(\$2,047.50)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	120.00	\$6.50	\$780.00	\$7.75	\$930.00	(\$150.00)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	500.00	\$10.50	\$5,250.00	\$13.25	\$6,625.00	(\$1,375.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	290.00	\$2.15	\$623.50	\$3.17	\$919.30	(\$295.80)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	130.00	\$4.25	\$552.50	\$3.24	\$421.20	\$131.30
645.42	TEMPORARY SLOPE MATTING TYPE B (WILDLIFE FRIENDLY)	SY	1,600.00	\$3.25	\$5,200.00	\$4.00	\$6,400.00	(\$1,200.00)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	1,600.00	\$2.25	\$3,600.00	\$3.15	\$5,040.00	(\$1,440.00)

Thursday, October 31, 2019

692.	MOBILIZATION	U	1.00	\$125,000.00	\$125,000.00	\$133,552.50	\$133,552.50	(\$8,552.50)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	10,154.00	\$1.00	\$10,154.00	\$1.00	\$10,154.00	\$0.00

Total: \$2,831,784.88 \$2,641,280.47 \$190,504.41

Thursday, October 31, 2019